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Data processing for measure QN characteristics in

Japan

The Methods to adjust
the Assessment Table
for QN Characteristics

focus on the difference
between self- and cross-pollinated

plants
NCss

Mariko ISHINO
National Center of Seeds and Seedlings (NCSS), JAPAN

The Context

General Method
The relative assessment based on the data
of the Example Variety(EV) in this year .

We seek more effective Method
to reduce the yearly variation

\ 4

the Method with
Fundamental Assessment Table(FAT)
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What is the Fundamental Assessment
Table (FAT) ...
/

\

The data accumulated
in over 10 years
DUS test
about several
Example Varieties

The Proposition
by experts

\ Experimental data

4

\ 4

FAT

FAT is available only for species that had examined
for over 10 years in several Example Varieties.

Practical adjusting method

Step 1 Step 2
PD is in the The characteristic is
standard deviation . compared in
of HD. : proportion.
1
\l, No I ||
i Yes No
make clear why | Steps'z\l' Step 3_1l
PD is notin the rF----= i Adi
standard deviation jgstment Jpstment
: with the with the
‘i, sliding proportional
Re-test method method

¥ PD: Present data = The Data of Example Variety (EV) measured in this year

HD:Historical data = Mean of the Data of EV measured in 10 years and over
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Adjustment FAT with the proportional method

e.g. Characteristic ; Leaf length

PD : 78.5 (mm) Proportion=78.5mm.”82.5mm=0.95

HD : 82.5 (mm)

Note 1. 2_ 3 4 5 6 7 8 9
Wldth|| 7 8 8 18 20 20 20 ,’
(mm)! 49 56 64 72 90 110 130 150
’ !

I 1

( 1

1

8 9 !

I
This Notgf 1. 2. 3 4 5 6 7 /
year RWILG I6I 8 I 7| 18 I 19 I 19 I 19 I

(mm) 47 53 61 68 86 105 124 143

Practical adjusting method

Step 1 Step 2
PD is in the The characteristic is
standard deviation - compared in
of HD. : proportion.
1
\l, No I ||
i Yes No
make clear why | Step3'2\l, Step 3_1l
PD is notin the rF----= : :
srardare) deviEiicn Adjustment Adjustment
: with the with the
\'y sliding proportional
method method

Re-test

¥ PD: Present data = The Data of Example Variety (EV) measured in this year
HD:Historical data = Mean of the Data of EV measured in 10 years and over
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Step 1 : Is PD in the standard deviation of HD ?

e.g. Character; Leaf length

HD: 82.5 (mm)

Standard deviation ; 8.175
Range of the Standard deviation :74.3mm~90.7mm

HD
Normal Curb

Range of
Stampdard
deviation

74.3 825 90.7 % PD: Present data
(82.5-8.175) (82.5+8.175) N HD: Historical data

Step 1 : Is PD in the standard deviation of HD ?

Case study
e.g.(@a) PDis 78.5mm

— |n the standard deviation of HD
HD

/ Normal Curb
Range of
Standard
deviation
7815
74.3 825 90.7 X% PD: Present data

(82.5-8.175) (82.5+8.175) HD: Historical data
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Practical adjusting method

Step 1

PD is in the
standard deviation
of HD.

 No

s

A

standard deviation

.
make clear why

PD is not in the

J

v

Re-test

Step 2

The characteristic is

compared in
proportion.

Yes

|| No

Step3-2,

4

Step 3-1l

Adjustment
with the
sliding
method

Adjustment
with the
proportional
method

¥ PD: Present data = The Data of Example Variety (EV) measured in this year

HD:Historical data = Mean of the Data of EV measured in 10 years and over

Step 1 : Is PD in the standard deviation of HD ?

Case study

e.g.(b) PDis 95.3mm

— Qut of the standard deviation of HD

% PD: Present data

HD
Normal Curb
Range of
Standard
deviation
05.3
74.3 825 90.7
(82.5-8.175) (82.5+8.175)

HD:Historical data
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Practical adjusting method

Step 1 Step 2
PD is in the Yes The characteristic is
standard deviation compared in
of HD. proportion.
+No ||
s Yes No
make clear why Step3-2), Step 3_1l
PD is not in the : :
standard deviation Adj_ustment Adj_ustment
. y with the with the
+ sliding proportional
Re-test method method

¥ PD: Present data = The Data of Example Variety (EV) measured in this year

HD:Historical data = Mean of the Data of EV measured in 10 years and over

Difference between self-pollinated
plants and cross-pollinated plants

e.g.

Self E.V. Cross E.V.

15'year 80 75

2" year 84| 84

3" year 81 74

4™ year 83 83

5" year 86 87

6" year 88 96

7" year 83 84

8" year 80 75

9" year 87 88

10" year 88 94

H'Sto(rll_fsl) Data same 84.0 same 84.0
standard .

deviation low 9.78| high 59.11
coefficient of .

R low 3.13 h|gh 7.69

dispersion low 11.64| high 70.37
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Difference between self-pollinated
plants and cross-pollinated plants

e.g. 100
95 - —

2 L 2 ' L 2

85 i‘HD:SZLO

75 L= =

70

+ self
65 B Cross
60

0 2 4 6 8 10

Difference between self-pollinated
plants and cross-pollinated plants

Self Cross
Historical Data (HD) 84.0 84.0
Standard deviation 3.13 7.69
Range of 80.9mm~ | 76.3mm~
Standard deviation 87.1mm 91.7mm

A\

76.3 80.9 84.0 87.1 91.7
(84.0-7.69) (84.0-3.13) HD (84.0+3.13)(84.0+7.69)
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Difference between self-pollinated
plants and cross-pollinated plants

® The methods are same one.

® The adjustable range changes according
to dispersion of Historical data of the

Example varie’%‘

[ The propagation system of EV is automatically }

reflected in the adjustable range.

Tendency :
» Self-pollinated plants ; smaller adjustment range
» Cross-pollinated plants ; bigger adjustment range

Thank you very much
for your attention!

[End of document]



